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Q.1(A). Read the first activity, Read the extract and then do all the activities. [12 marks]

>

#@A1.Read the following statements and write down two correct statements that show the clear
picture of the behaviour of the narrator and her elder sister. (2)

1.They loved each other very much.
2. They frequently quarrelled with each other.
3. They did not tolerate each other,
4. They always went to see the films together.

My sister and | shared a typical sisterly relationship: we couldn’t stand each other. Or, to be honest,
she Couldn’t stand me. | hero worshipped her. Her taste was the epitome of glamour, her
personality the definition of cool. My clothes were mysteriously inclined to look like hers, and even
my words tend to mimic those | heard from home. Many times, | even wanted to literally follow my
sister, whimpering every time | was barred from attending movies with her. Needless to say, | was a
brat and an annoyance to her. Any sort of conversation we had usually degraded to fighting, and try
as | might, My sister had an extra six years worth of insulting vocabulary ( which meant she usually
won). After a while, | stopped trying to impress her and learned to be totally indifferent, perhaps the
silent treatment would get more approval. | was wrong. We soon fell into a sad pattern- | avoided
her, she ignored me and deep inside, it hurt. So that’s how it Was between us. Indifferent or hostile,
she was only a sister in name. | truly believed we would forever be a part, two housemates without
conversations, two strangers without warmth. And nothing more.

MA2.Complete
Complete the following sentence (2)

1. She was only a sister in name because ...............
2. Ttruly believed that we would forever be a part because ...............

A3. Conclusion. (2)
* My sister and [ shared a typical sisterly relationship.”

The sentence implies ............. ( Complete it in a paragraph )
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A4. Vocabulary (2)

Q. Match the words in ‘A’ with its meaning in ‘B’

A B
1.Epitome a. inclined 3
2. Tended b. Showing no interest
3. Hostile c. Perfect example
4. Indifferent e d. Aggressive
AS. Personal response (2)

Q. Imagine that there was a misunderstanding between you and your brother/ sister. This
led to a quarrel. What will you do to remove the misunderstanding and settle the matter.

A6. Grammar. (2)
Do as Directed

1. T'hero — worshipped her. ( change the voice )
2. 1 was wrong . ( rewrite as negative sentence without changing the meaning.)

B. Do as directed [ 5 marks ]
1. We celebrate our Independence Day on ............... 15%0f . e August.

( fill in the blanks with ‘a’ , ‘an’, ‘the’ wherever necessary.)

2.I usually go to bed .......... midnight .......... Sunday.
( fill in the blanks with suitable prepositions)

3.Gerald wrote a letter to his mother. ( change the voice)

4 The weather is so bad that we cannot go out for a picnic.
( rewrite the sentence using “ t0o” )

5.Shiela gave me the advice. She is my mentor.

(Combine the following pair of sentences using relative clause with appropriate relative
pronoun)
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Q2A. Read the following extract and do the activities that follow.

Start where you stand and never mind the past,
The past wont help you in beginning new,
If you have left it all behind at last

Why, that’s enough, you're done with it, you’re through;

This is another chapter in the book,
This is another race you planned,
Don’t give the vanished day a backward look,

Start where you stand.

The world wont care about your past defeats
If you can start anew and win successes;
The future is your time, and time is fleet

And there is much work and strain and stress;

Al. Factual understanding (2)
Fill in the blanks quoting the right lines from the extract

1. You should never mind the past because........
2. The world wont care about your old defeat ..........

A2. Poetic devices _ (2)

“ you’re done with it, you are through.”

[8 marks ]

Name the figure of speech in the above line and find another example of the same from the

extract and write it down.

A3. Personal response (2)

Explain what will you do to achieve your goal in life.
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A4, Poetic creation (2)

Change the order of the words in the second line to rhyme with the fourth line.
Start where you stand and never mind the past,
If you have left it all behind at last >

Why, that’s enough, you’re done with it, you’re through.

N
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0.1) fill in the blanks 7 (20M)

1) Management secure maximum result by the use of available

2)______ is management by one self

3) Strengths and weaknesses are

4) Businessman must organise to keep contacts

5) is an end towards which you direct your efforts
6) Emotions, ego, and pride are
7) Short term goals are set for

8) Time is a unique

9) is given free to all
10) wait for none
11) Don’t waste time as it affects you also

12) The duty low's are fixed by the

13) is a register of attendance of employees

14) Staff unions object to attendance

15) is enforced to maintain orderly atmosphere

16) means exact in keeping time and appointment

17) Delegation mean giving authority to your

18) is a problem in commercial cities

19) means exact in keeping time appointment

20) is a tool in the hands of management
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Q.2 write any three v . (30M)

Q1) what are the characteristics of time?

Q2) what is planning? Write basic step in planning?
Q3) what is goal setting? Write types of goal?
Q4) explain importance of goal?

Q5) explain importance of attendance in your words?

A
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Roll No ' Seat No
Contact No Regular (25)
Q1 a) Fill in the blanks ' . (2)
(1) Sania Nehwal is an International player : 3
(Boxing, Badminton, Cricket)
(2) is the Captain of Test match Cricket team of india.

(Virat Kohli,Ishant Sharma,Rohit Sharma)
(3) The full form of THR is
(Target Heart Rate, Training Health Related, Time Health Management ratio)

(4) Yogeshwar Dutt represented India in game.
(Karate, Boxing, Wrestling)

b) Match the Column (any 4) (2)
(1) Cricket - (a) physical fitness

{2) Sports - (b) mind and soul

(3) Dipa Karmakar (¢) Virat Kohli

(4) Yoga (d) Wrestler

(5) Sakshi Malik ‘ {e) Gymnast

c) True Or False e (2)

1. Sachin Tendulkar is Called as A Master Blaster in Cricket
2. Running is an Athletic Event

3. Hockey game is played for 2 hours

4. BMI means Body Mass Index

Q.2 Answer in one sentence (5)
1. BMI

2. \What are the types of Cricket Matches played?

3. What is Waist Hip Ratio?

4. What is Physical Fitness?

5. What do you mean by PRANAYAMA




(Q.3)Define the following ' : (4)
(1) Write about yoga

(2) Write about Hockey Match Timing

(Q4) Answer Briefly ' ' (4)

1. Importance of Nutrition

2. Write about Fitness in your own words

'(QS) Write Short Notes

(6)
1. Draw and Label the figure of a Football Ground
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I Fillin the blanks. (Smarks)
a. Cottage industries are specialized in___ ' .
i. Luxury goods ii. Imported goods iii. consumers goods
b. A multlnational company is also known as \
. Global corporation ii. Regional corporation IIi National Corporation.
Public enterprises are financed by
i. Government il Private businessmen iii. Political leaders.
d. The activity that removes difficulty of risk is '
“i. Insurance ii. Transport. iii. advertising
Building of dams is an activity done under industry.
I. Primary ii. Secondary iil. Tertiary.

o

o

Il.  Writsaword or phrase or term wﬁlch can substitute each one of the following statement.

: ( 5marks)
" a. The type of industries that provides services.
.b. Partners in a Joint venture.
c. Financial institution which is wholly owned subsidiary of IDBI. :
d. An organization of co-operation for self development of women.
e. An aspect of business which is concerned with the distribution of goods.
lil.  Distinguish between the following , (Any Two, 10 marks)

. a. Business and profession.
b. Private sector organization and public sector organization.
c. Departmental organization and Government Company.

IV.  Write short answer to the foliowing ' A - (Any Two,10marks)
a. Explain the features of employment.
b. Explain the meaning, features and merits of Statutory Corporation,
c. Explain the features of cottage industries.

V.  Answer In detail (long answer type question) . : (Any Two, 20 marks)
a. Role of small business in rural India. .
b. Describe various objectllves of a business unit.
¢. What is meant by tra'de?-Explaln different auxiliaries to trade.

Y~/

900 Sep
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INSTRUCTIONS

1. All questions are compulsory.
2. Figures to the right indicate maximums marks.

Q1 A) Fill in the blanks with appropriate works from the bracket. (04)

1) Economic growth vithout is possible.
(Economic development / education / Capital / trade)

2) The difference between Birth Rate and Death Rate is called
(Population explosion / Survival rate / Fertility Rate / Mortality rate)

3) Poverty is a universal Phenomenon.
(Absolute / relative / Urban / rural)

4) Unemployment during the off season is called Unemployment.
(Urban / Seasonal / Disguised /involuntary)

B) State whether the following statements are true or false. (04)

1) Family planning program is successful in India.

2) Rapidly rising population is the only cause of poverty in India.

3) Joint family system increases unemployment.

4) Laissez-Faire policy advocated minimum state intervention in the market economy.

C) Match the following. (04)
Group - A Group - B
1. Year of great divide a) Break down of machinery
2. Per Capita income b) Removing restriction
3. Frictional unemployment c) 1921
4. Liberalization d) Low in India
E) 1951
Q2 A) Distinguish between the following. (Any three) (06)

1) Per capita income and National Income.

2) Birth rate and Death rate.

3) Absolute poverty and relative poverty.

4) Seasonal unemployment and disguised unemployment.
5) Liberalization and privatisation.

Foo -BxAB
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C) Define or explain the following concept. (Any two)

1) Per Capita Income
2) Relative poverty
3) Globalisation

4) Underemployment

Q3) Answer in Brief. (Any three)

1) State the causes for Rapid decline in Death Rate?
2) What are the economic effects of poverty?

3) Explain the different type of unemployment?

4) What are the measures taken for privatization?
5) Explain the measures taken for globalisation?

Q4) Write short notes on the following. (Any two)

1) Poverty line.

2) Population Explosion.

3) Causes of unemployment in India.

4) Government measures to reduce unemployment in India.

Q5) Answer in Detail. (Any one)

1) What are the characteristics of new economic policy (NEP) of 1991?
2) What are the indicators of economic development?

o4

(12)

(08)

(08)

All the Best
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Note : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Mobile Phones are not allowed.
Q.No.1. (A) Select the correct answer from the pd‘ssible choices

given below and rewrite the statements. (05)

(1) The word secretary is derived from Latin word

which means confidentiai writer.

(a) Scribae (b) Secretaﬁus (c) Sachiva

(2) Every company having a paid up share capital
of Rs. or more shall have full time
Secretary
(a) 5 Lakhs (b) 50 Lakhs (c) 5 Crores

(3) A Co-operative society must have minimum

members

(a) 15 (b)20 (c) 10

(4) A public company needs to-have minimum
members
(a) Two (b) Five (c) Seven. ,

(5) A is the oldest and simplest form of
business organisation.
(a) Partnership firm (b) Joint Stock company
(c) Sole Trading concern. _ |

(B) Write a word or a term or a phrase which can
substitute each of the following statements (05)

(1) The head of Joint Hindu Family Business.

(2) The official signature of Joint Stock Company.

(3) An information which is not supposed to be

disclosed by the Secretary

$00 8B BX-E?




Q.No.2

Q.No.3

Q.No.4.

FTe 710150 (8)

(4) An association which does not aim at profit making.
(5) Qualities acquired by putting continuous efforts.

Distinguish between the following (Any twe) (10)

Personal Secretary and Company Secretary

2. Secretary of a Co-operative Society and
Secretary of a Non-Profit Association.
3. Company Secretary and Secretary of a
Government Department.
Answer the following in brief (Any two) | (10)
1.  Explain the features of a secretary. '
2. State the ftinctiéns of a personal secretary'.
3. Explain the Professional qualifications required

by a secretary.

Answer the following questions in detail (Any two) (20)

ds

Explain the qualities of Head and Heart of a
Secretary. A

Define Joint Stock Company and explain its
features. _
Explain the limitations of a Joint Stock Company.

3K 2K o K K Kok kK

BEST OF LUCK
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Life should be great rather than long,
As you think, so shall you become
Health is the greatest gift

His dream became true.
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Q.l. (A) Answer in one sentence

1. What is Book-keeping?

2. What is Transaction?

3. What is Nominal Account?

4. What is Journal?

5. What do you mean by Ledger?

Q.L (B) Fillin the blanks

1. Recording of an entry from Journal to Ledger is called as

(balancing / posting / totalling)

2. Goods or amount taken by proprietor for his personal use should be debited to

(drawing account / sales account / cash account)

3. Money value or the reputation of business is known as

(Patents / copyrights / goodwill)

4. A commodity in which a trader deals is known as

(property / goods / income)

5. Amount which is not recoverable from customer is known as

(debts / debtors / bad debts)

Q.ll. Classify the Following Accounts under the Type of Personal / Real / Nominal Afc. 5

NGV EWN R

10.

Life Insurance Premium A/c.
Furniture A/c.

Loss by Fire A/c.
Outstanding Income A/c.
Copyrights A/c.

wages A/c.

Drawing A/c.

Goodwill Afc.

. Stationery A/c.

Computer A/c.

Q.l1l Journalise the Following Transaction in the books of Mr. Sameer 20
2017, September.

%

H o, E v

Started business with cash Rs.2,00,000., Goods worth Rs. 10,000 and computer Rs 20,000.
Deposited cash in to Bank of India Rs. 30,000.

Purchased furniture of Rs. 10,000 for cash.

Sold goods to Danish Rs. 25,000 on Credit.

Received a bearer cheque for Rs. 20,000 from Danish.

Paid for Postage and telegram Rs.5000.

Bought goods on credit from Meena Rs. 8000 at 6 % trade discount.

900 £20
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8.
9.

10.
; 13:
12,
13.

14,
15,

FIC 710120 222

Sold goods worth Rs. 10,000 to Abdul who paid us Rs. 6,000 on account.

Remitted cash to Meena Rs. 7,000 and received a discount of Rs. 520.

Withdrew cash from Bank for personal use Rs. 1,000.

Goods costing Rs. 2,000 distributed as a free sample.

Paid waged Rs.500.

Goods worth Rs, 4,000 were destroyed by fire and Insurance company admitted a claim to the
extent of Rs. 3,000 only. >

Salary paid Rs. 4,000 in cash and Rs.6,000 by cheque.

Abdul became Insolvent and could pay only 50 paise in a Rupee.

Q.IV. Journalise the Following Transaction and post them to Ledger Account and balance the

same in the books of Mr. Khan.

2013, February

L T O

Mr. Khan started business with cash Rs. 8,000,
Cash sales Rs. 3,000.
Goods purchased for cash Rs. 2,000.
" Paid salary Rs.500.
Purchased Machinery on credit from Shaikh Traders Rs. 17,000.
Paid cash to Shaikh traders Rs. 5,000.

*t#*lll#!*****tt#*#ﬂ‘t#*‘#**t.#*
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(). Attempt the following 12

1. Find the modulus and amplitude of Z = -4 -3i.

2. Express the following angles in degrees and radians (i) 120° (ii)%r.r-.

3. Prove that tanx + cotx = Secx.cosecx.
4. compute D, for the following data 70,75,80,73,75,76,71,73,72.

5. compute the coefficient of range for the following data 310,312,308

322,345,320.

9! x5!

6. Find the value of (—1—6;-

(11). Attempt any six of the following | 18

1. Find the value of xand y satisfying the equation (x+2y) + (2x-3y)i + 4i =5.
2. The perimeter of a sector of a circle of area 25m sq.cm. Find the area

of sector. :
3. The sum of two angles is 5S¢ and their difference is 60° . Find the angles

in degrees.

4. Find n if (n+3)!=110 (n+1)!.

5. The height (incm) of 10 students are given below 148,171,158,151,154,
159,152,163,171,145 calculate Q; and Q.

6. Compute quartile deviation for the data given below
Class 0-10 10-20 20-30 30-40 40-50

4 15 28 16 7
7. Find the value of x* =X’ +x+46 if x = 2+3i.
(). Attempt any four of the following
1. Find the square root of 7+24i.

20

/40 Bxp



y

FTc710150 (AR

3
o i sinx=-ﬁ-,1‘r 5 o find the value of secx-tanx.

3. Calculate the mean deviation about mean and its coefficient.for the
following data
X 10 g i 12 13 14
f 110 20 30 20 10
4. Find Q, and Q; of thé following data
X. 26 28 30 32 34 36 38 40
Jﬁ. 7 12 20 35 15 5 4 2

| !
5. Find n if Sl e B 3

3!(n=3)! 5!(n-5)!




